ANKANIP

X1

PROCESS MONITORIINIE

AYE— TF—I7— Bt
AI—FEZZY TR T L

MARPOSS




X1

BRANKANIP

AR TF—Z20 D=8 D
AT—r,TOERE=H2S

¥l

MHEEBDRE

A7 ATHOREEHE
SUBALDER - 034 LOHBIR
BEUEEREDREICKDEEMED
ML

£RMERHY Sy TaX FOHEIE
SFYRELLEEEIREZERT S-6H0D
TS

DC/MES/ERPY R T LAEHT S

= DC-THRU4.04 > X2 —T x—X

® @60 066

EZRY2T

tH

CRRKI2EZAY VT Fr oI F
RRARE, ETODF YU RILT
HYERAEELEH TV T
T4 r— 3 UBREEIEEL

- EfE - BELRAKRUR
TAVFBZIYFINRILTART LA

- BRRIGFEEED N ) U2 —HEEE
F—5—. €8, RyI R, &H)

- EMAEEERBEN—B THhM S
Stop & GoZ 1 7' 5 Lkke

- HEEROEEREBROBN. BH
%# 508k 9 %S Device protocol#EE

e C-THRU4.0D=8bDT—42 N
[Ed]:]

2 xi

¢ Quattromatic
BINToRO—Th—TI2& % 255k
EFHARA : V— . M : =1k)

» Systomatic
SUOWHLTEE 2T SR ER
EZAR YT AR

e Zoom
EBOHENT) TEILKLTL VM
ZEER

* Rotator

BEELTCLEL=T—HPOT—SHFA
S RMDIEFESAREN

* Short- and long-term trend
REIDEFEMTIILVEEZRIMT S
tEmEEER

* Wire feed monitoring
7 4 — FORRORMEZ RE LIRA

* Pattern-based idle limit
BERO-ONERE=42 T

* Roll back monitoring
BEETRONRLSDTETLESHE
DEEERA

* DMA (Die Match Assistant)

EERCTORMEARDNS VY RERRL
HENERE

MARPOSS

HE1E

* Cockpit mask
BEL-2TDEREZ—B TRE

* Optimizer
I oRO—THh—TORELIEE
HEIMICEHE

* Adapt function
TR LICRET HITREOESTELIC
MLTIToRO—Th—T % &k

* Spot Control
ELWERAEZEEMNICHE

e Comfort interface
TRHEBELRIEEEESE, ARXL—20D
BELOT UV EEEREESE

* Four operating levels
BREEZLEET HIEDRERIR

* Double operation
BIMDOPCH 5 ARKAFEHE



BRANKANIP

Level: 1 M3x25 Philips
L
=

v
*

452 452 409 499 433

A VEETIHE=ZAY UYICEE L2 TOER RILFFv UoRIIBEETIE, TROREE., REIE.
(W98 — - BRKIA—R-ToRO—THh—T - IVARO—TH—T%2EHEE2THOEVH—DESEMN
fLYRYSy k) #—HTHREHEFT, RERSNFET,

Level: 1 M3x25 Philips Level: 1 M3x25 Philips

M3x30 Torx
M3x25 Philips

FLOEES, SRICH L TERARZESHEI S L Y—ILAEY —HEETIIHRAT200DH A, ERHET
AHEET, DRFEERFARETT. (FTva)

Bt x

Envelope [1,2]

F v oL 1-8(12) 7+ OS5 F v oI
4-16 T2AINA Ty k]
ToRTy b

EIR 24V / DC / 23 Watt

HRERARERE +5°C ~ + 40°C
A 23— —R 1 Ethernet / TCP/IP

Zierenk /ahit 1 serial
— S Ir Py Y —E RN AESE
A7varvzra—4&
Tk 300 x 260 x 206 mm
F—ANEE£E1TS3C-THRU4.0Y 7 b T 7 ~ADiE (WxH xD)
BMERETY, (FTar) E=E 6.5kg (MTITFITSH vy FED)

MARPOSS

X1

Planetary Infeed

Flat die

roller

roller

roller

Double blow Multi blow Rotary Multi station Boltmaker

Single blow

header

header

header

header

header



(=] Fs

www.marposs.com

ZEDEFR—EIL Marposs DARXY = THA FETBEEZEL,

ODN6B17JA00 - Edition 03/2023 - WS FERCERETI LA BYET,
© Copyright 2023 £ T DZE {E#IEMARPOSS Monitoring Solutions GmbH (K4 W) IZH Y £,

BRANKAMP K. UMarposs&l & /585 &, MarpossDXEH & UHEIZH 1+ 5 B REZF = EEETT,
Ffe. RO OTRICEZEOBEFEL L PICBREAFENBHEINATVDIEE. ZOEFEZHOIOTT .

MarpossD & . B, REOMEBEE L X T AlE, 1SO09001. ISO 14001 H & U
OHSAS 18001 DB ZMEL TLVET ., Ff-. EAQF94 &L Q1 HEBEShTLET,

[=] =]

=r

[=]

www.brankamp.com




